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T JEgfEdehd e S TEATCT 4 TR I gafael SRE & 1, 2, 3 37T 4 3 HHTh fdoiel 3.
T IR ITAR! T AT I SHHTh ITLAAhae] Ga-THT0 o] JTLALIhal TG Haal. 3T
TR ITATAhaT ITGHATSH TG HLAMT a1 HEfd TTshHIIEAHI BTATIhd e GUfIell TSt A< Shlessit
ST, ETRAT Whekd hieaall WIS SieTu ST,

o farmamEdt Al SR Ui Aieam fafga oot o1, o famamen ueies w9 Wt sRieR St Wind
ferreht Fmton sream=ht viem steam™, IAgERM TEfta TvA vl ande gt arga ugmE.

I Tehal TG shelel I @ISAT IV ATE. TG shetel I @IgH T I {edmd o qureet SR
B

e JYAHT THE T 3Ted. IRd Hd TR I AT, S5 Il IR ARG AT Sadl dhd I
ferqerRn I W HieaTeq.

egfEaerned fafed shetean fafde Srfra #=a ®m (6 ) .
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1. WHSTHR I8 TSI ATIRR &= HIoTdT ?

@3N IR JER g OEREIEIPEIREE
@) Ager fUsrR 8= () IO AR
T I

()3, 9, 2) 9, h, S

G A3 (4) TS T TR
Which of the following are the main jurisdictions of High Court of a state?
(a) Original Jurisdiction (b) Appellate Jurisdiction
(c) Advisory Jurisdiction (d) Supervisory Jurisdiction

Answer Options :
(1) a, b, c (2) b, ¢, d
(3) a, b, d (4) All of the above.

2. WTHGUh HIUTd TTIT Fehre 3TTE?
(1) TATSA GATIAIDT & ITYANT IRAT JIsTIe—HE hide! aruReT ATar.
(2) HRATA HATE =ATETGATAT ATGSIh-TT SITHR IsTaeAhgT ATl 3.
(3) AR AATE ATTGATAT TS TGS R STIDHR TG AT 3L,
(4) STIF=AT A" ATSATAT 1% GATARATT TIHR el Asqge-tahgT HeaTsT
.

Which one of the following statements is incorrect?

(1) The phrase of "Judicial Review has nowhere been used in the Constitution of India.
(2) Indian Supreme Court derives its power of Judicial Review from the Constitution
(3) American Supreme Court derives its power of "Judicial Review from the Constitution

(4) Japanese Supreme Court derives its power of Judicial Review directly from the Constitution

3. G fohar Ifeeh TSNS TYwh 3 AMETGd STl didg T HRIAT AT,

(1) et TreTgeRdr (1951)

(2) AT GeATGSEIT (1956)

(3) TURTAT TG (1963)

(4) SATSATET TSI (1976)

The provision for the establishment of a common high court for two or more states was
added by

(1) First Constitutional Amendment. 1951

(2) Seventh Constitutional Amendment, 1956

(3) Fifteenth Constitutional Amendment, 1963
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(4) Forty Second Constitutional Amendment, 1976

4., IO IATSAEGTHT WISIHUDT HoTd foarT S« re?
(1) TaTE AETHIATE Jeb ATIHIAT SIS 3T,

(2) T TS 9e e FaTE ATATGT gTdle 3Tehd.
(3) FAE TSI 3 AT feear Mo ds siie aee &ed 9dad Tigst.

(4) FETE FETSITET FoTT F9" FATGIER SUThRG 8.

Identify the correct statement about supreme court.

(1) The original jurisdiction of supreme court is absolute.

(2) The dispute between two states can be handled only by supreme court.

(3) The appeals against the verdicts of any court should be admitted by supreme court.

(4) The verdicts of supreme court are binding on supreme court.

5. BIUTS T AR ATAHIH-2013 =7 THE IRTSAEEd QSGUhl Siord [T g
3TE?
(1) SIRITHTS 78T T HIel T TS T ATIh! 50 T8 Mh T T,
(2) BHUTS TG 50 T TS T SITAT/STHIA/ZAR APTEESIY, SeuieA® T AeaT
IS ATA.
(3) BRI 3TeeT NMOT AGWATT FHEIHIS 5 I¥ fohar Fam=r 65 a9 IO 2 319,
(4) GaTITaTel AIhATATeAT AR ST HHEST Hvdid ST e,

Which one of the following statements about the main features of the Lokpal and Lokayukta

Act-2013 is incorrect?

(1) Lokpal will consist of a Chairperson and some members of which 50 percent shall be
judicial members.

(2) 50 percent of members shall be from SC/ST/OBCs, minorities and women.

(3) The term of office for Lokpal Chairperson and members will be 5 years or till attaining
the age of 65 years.

(4) Prime Minister has been brought under the preview of the Lokpal.
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6. [STeer =maTdisi=r Sedld @eoie UM "f=mra =i -
(37) ToTeer =mardRn=r Mahl 3T FATGITT I8 ARETURISgT Sherl Sid.
@) ToieeT IETdIE=r JeoT HRuardr ATIRR AT 3R,

TIFURT hIoTa/ar /A S=RIeR 3Me/d?
(1) ®h 3T (2) ®<h &
(3) T AT (4) SIErer ATer

Consider the following statements regarding District Judges:

(a) The appointment of District Judge is made by Chief Justice of High Court.
(b) The Chief Minister has the authority to transfer the District Judge.

Which of the statement given above is/are correct?

(1) Only a (2) Only b

(3)aand b (4) Neither a nor b

7. Wole U eERE @i
(37) AP HIAATHEHTAS T TR TaTaR e ARSI RSAT Agr AeIdia”
FYARRE AT,
@) TTAATST G BhddT AP AAGT AU A I YSTETRT X HI0ATAT TR

TaTE TSN [SoaT TG ATAAGR TUTHRE 3TTar,

T 39Y
(1) T o1 RIeR @) g 7 |
O EEINRERIERERER (4) SErEr faa IR sed

Consider the following statements:

(a) The advice of the Supreme Court to the President on a matter of law or fact of public
importance is not binding on the President.

(b) The advice of the Supreme Court to the President on a matter to remove the Chairman
or member of UPSC is binding on the President.

Answer options :

(1) Statement a is correct (2) Statement b is correct

(3) Both the statements are correct (4) Both the statements are incorrect
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8. I SATATSHATAT RTHZITAT Y=gl Ulsha=il JqSaTd HIvTAT THIIETT &3 2Tehd?

TR I

(1) %h 3, 9, & (2) ®th &

(3) th 3, (4) h 3, §

The removal procedure of an high court judge can be initiated in which house?
(a) Rajyasabha

(b) State Legislative Assembly

(c) Loksabha

Answer Options:

(1) Only a, b, ¢ (2) Only b

(3) Only a, ¢ (4) Only a, b

9. IENT fayu/A Maer
(37) T IR AH0E IEAA! Hedrd.
@) TETT TSI dad ETHEIE 70 TIAr HdT.
() TaTE ATGAT g ATATHRTE A0 IEIAT AT,

T 39T
(1) ek 37 (2) Bh T
(3) F°h & (4) Fh &, .

Identify incorrect statement/s.

(a) Acting chief justice is appointed by the President.

(b) Ad Hoc judges of Supreme Court are appointed by the President

(c) Appointment of retired judge as a judge in Supreme Court is done by President
Answer Options :

(1) Only a (2) Only b

(3) Only c (4) Only b, ¢
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10. WIAHGID! BT [T SRS HTR?
(37) FI" IETGT 0T I FESGT 3130 Sl AETGAdIS FRTURiE 97 g SRAre
e MR a3,
@) THT ST ARSI ATz Fgaiad g YRarer ded Myiay v 379,
AT 3N
(1) Th 3T 2) B T
(3) 37 3nfor & ST (4) TISIDT Thel ATar

Which of the following statements is correct?

(a) Salaries of the judges of Supreme court & High courts are charged on the Consolidated
fund of India.

(b) Also the pensions of the judges of both the Supreme court and High courts are charged
on the Consolidated fund of India.

Answer Options :

(1) Only a (2) Only b

(3) Both a and b (4) None of the above

11.  WTSIAUHT HoTd g Fha 3me?
(1) 1963 =T GERTAT FEAGHHT ATIHIAAR IT ATATHIATAT M= M=l a7 60
TEGST 62 TN IO TS,
(2) 1976 AT TSHATSATAT eAGHwI ATATIAAR AT BIRHAT JATARTIAT ey ATOT
T Mg 99 60 IS 62 ¥ HI0IT TS

(3) 1963 TAT GERTHT TRl ATAMIAAR AT AETHATdG ATz Fasie a9

62 TEAST 65 TN ATSTITITT 3T
(4) TAHUDT Tehal ATal.
Which one of the following statements is incorrect?

(1) The Fifteenth Amendment Act of 1963 raised the age of retirement of the Judges of the

High Courts from 60 to 62 years.

(2) The Forty first Amendment Act of 1976 raised the retirement age of the chairman and
members of Public Service Commissions of the states from 60 to 62 years.

(3) The Fifteenth Amendment Act of 1963 raised the age of retirement of Judges of the
Supreme Court from 62 to 65 years.

(4) None of the above
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12. YRAMY ‘SHRT IR (PIL) ITerETo! SivTd 9ceh SHTEeR Ted?
(37) TRAIT IsTg—=l I35

@) TSI 3 METATAT ATIFRTET (locus standi) ISRHASTST SREAT.

IR TTOT IUTRIAT Hed FHRUATATST T TIhedHT.
(h)

(©) I WTdT3iies ATHITSIR ST 3THIE.

I 3

(1) 31, & 37OT & (2) T, & AMOT §
(3) 37 MOT S (4) YR T

What are the factors responsible for the growth of 'PIL' in India?
(a) The character of the Indian Constitution

(b) The liberal interpretation of locus standi

(c) Judicial innovations to help the poor and marginalised

(d) Absence of sufficient progressive social legislations

Answer Options:

(1) a, b and c (2) b, cand d
(3) aand d (4) All of the above
13.  STreT ST

GRGES hAH

(37 FHT 127 ORRESRRIRICIE

@) FAT 128 (i) BITHT =FTaTedET

@) FAT 126 (i) T AT YRS ARS8
() HAH 131 (iv) TIRT AR=ATATET

T I

(CORNC) RN CO RN )

(1) ii i iv iii

(2) iii v i ii

3) iv  iii ii i

4 i iv iii ii

Match the pairs.

Article Provision

(a) Article 127 (i) Retired Judge

(b) Article 128 (ii) Ad-hoc Judge

(c) Article 126 (iii) Original Jurisdiction of Supreme Court
(d) Article 131 (iv) Acting Chief Justice of India

Answer option :

@ ®® (© @

1 i i v il
@) i iv i ii
3) iv i i i
@ i iv i i
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14. WIHGID! HITAT TTUH AHFTSATES AT T ATRA?
(37) T <ATATST AU, 2008 TEA: HRIE JANTAT RIERTOR MIRSST 38,
@) UTH TS & [hd Irarad 31g 3ToT iqT famoly iSR! el IraTedid TaR
AT,

@) T FEAATIAR UG FHROGTET Tehdl ATURR 09T dXE e T o UG 3T FATHATHS

FRAT AT,

T I9Y
1) A, 9, % (2) Bth 3, &
(3) ®h A, & (4) ®h ¥

Choose the correct statements about Gram Nyayalaya'.

(@) The Gram Nyayalayas act, 2008 is broadly based on the recommendation of the Law
Commission.

(b) The Gram Nyayalaya will be mobile court & shall exercise the powers of both criminal
& civil courts.

(c) It provides for only one right of appeal which shall lie to the High court.

Answer Options :

(1) a, b, ¢ (2) Only a, b

(3) Only a, ¢ (4) Only b

15. WSIHUHT HIoTd [T hid 3Tme?
(1) IRTHAN ATHIAT BT TEVART TATIH 1947 Aol AR SR (SF.) T IR,
(2) FHIARRT [THIT SIOT [T ES el HRUATT TN SIeATHed TREAT =ATATGA Alshdd]
EEREICIR
(3) TGN AlhaaHes FRICHSATAT JTIHRIT T T,
(4) SETSA AlhIAHS HaTe =TTGATAT USRI 3NfoT Yfasd are #me.

Which one of the following statement is incorrect?

(1) The term 'Judicial Activism' was coined for the first time by Arthur Schlesinger Jr. in
1947.

(2) Judicial activism has arisen mainly due to the failure of the executive and legislature to
act.

(3) Judicial activism led to increase in the powers of the legislature.

(4) Judicial activism has enhanced the powers and prestige of the Supreme Court.
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16. WSS [TUM SeTd = -
(31) I TSI T SAThedr =TT Fare har 3av 3° =ArTaard aichosl Sedl
7.

@) \EITHARTET J=aTd HHC{WI fé?n'mﬁ:r AT g fohar AT 39
W@?ﬂwﬁﬂm JAUEhISTId ==l T I

FAGURT DI fTar/faar o< smea?
(1) <h 3 (2) Th
(3) Qel 3 AoT & (4) T 3T T TN

Consider the following statements :

(a) The retired permanent judge of a high court can plead or act before the Supreme Court
and the other high courts.

(b) Conduct of High Court judges can be discussed in parliament or in a state legislature at
the time of an impeachment motion is under consideration of the parliament.

Which of the statements given above is/are correct?

(1) Only a (2) Only b
(3) Both a and b (4) Neither a nor b
17.  Sirer S[eaa.

HST o=y
(37) 219 (i) 3T ARSI FFAT
@) 214 (i) 3T ATATSATAT =AATdEIer HEhr § ArATsTEar Tt
@) 217 (iii) ITSTTATST T 1A
@) 216 (iv) I AFTHATAT TR gT 219 fhar wia=r

CONNCIEENCORNC)

1) iv il ii

[

(2) ii iii i iv

3) iv il ii i

@ iv i ii iii

Match the pairs.

Article Subject Matter

(a) 219 (i) Constitution of High Courts

(b) 214 (ii) Appointment and conditions of the office of a Judge of a

High Court

(c) 217 (iii) High Courts for States

(d) 216 (iv) Oath or affirmation by Judges of High Courts
@ @ (© (@

(1) iv  iii i ii

(2) ii iii i iv

3) iv iii ii i

@4 iv i ii iii
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18. I SIreaT S[eaa.

FHHT EREI

(37) 136 (i) TATE ATATHATET AT ST AT AR

@) 142 (i) el e TRT HIUIEEST Far= TSI Toad

@) 139 (iii) FATE ATATSIATEAT T SHGISTIUIT

) 143 (iv) FITE ATATSATT 3TUT HIUATATST (2T IS
G @ & ©

1 i ii iii iv

@ i i v i

G) i v i i

@ iv i i i

Match the pairs.

Article Subject
(a) 136 (i) Power of President to consult supreme court
(b) 142 (ii) Conferment on Supreme court to issue certain writs
(c) 139 (iii) Enforcement of decrees and orders of Supreme court
(d) 143 (iv) Special leave to appeal by Supreme court
@ ® © @@
() i ii iii iv
) i il iv i
() i iv i ii
4) iv  iii ii i
19. JTPUAr T IWIPIAT HaSUEhETTd=AT [qaTaar. Tare =—raradrd FHALAR ot
ST ST,
(1) ®Hd 71 (2) HAHH 131
(3) AT 73 (4) FHHT 130

Disputes related to election of President and Vice President are dealt with article
in supreme court.

(1) Article 71 (2) Article 131

(3) Article 73 (4) Article 130
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20. I IRTGHIATET JATAT AT TEAR HH BT

(1) TATEIETE, S, HgT, hHohehl (2) v, UG, ST, TATEIEIS

(3) v, S, HGTH, TATEEIE (4) ST, T, hoadhl, AN
Arrange the High courts according to their year of establishment.

(1) Allahabad, Bombay, Madras, Calcutta. (2) Calcutta, Madras, Bombay, Allahabad
(3) Calcutta, Bombay, Madras, Allahabad (4) Bombay Madras, Calcutta, Allahabad

21, MR ST AT HIVTAT TSR HATE FRTHIATH G- 3T T b= gafaar
FROTET ATTHR 3Ta?
(1) 35T 137 (2) TTT 143
(3) BT 136 (4) IS 138

Under which article of Indian Constitution, the Supreme Court having the power to review
its own judgements and orders?

(1) Article 137 (2) Article 143
(3) Article 136 (4) Article 138
22. ST ST

(37) aiEeT =TT e () R s wead 9=

@) IR =TT AT (i) IIET AR FThr I

@) faa=T |z @ (ifi) 1+4 =TT s ToTaH

() TATIT AT TA (iv) 1+2 IRREATE HicfoTaH
@G & & ©

(1 i ii iii iv

(2) i iv iii ii

(3) iv iii ii i

4 i iii iv ii

Match the pairs.

(a) First Judges case (i) Consultation does not mean concurrence

(b) Second Judges case (ii) National Judicial Appointments

commission

(c) Third Judges case (iii) Collegium System of 1+4 judges

(d) Fourth Judges case (iv) Collegium systems of 1+2 judges
@ G © @

(1 i ii iii iv

(2) i iv iii ii

(3) iv il ii i

4 i iii iv ii
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23. %‘IGI‘(IT-J "<‘||¢||C6¢||dﬁ|c'5 'QIQITY?JQIIGIIGICI ST h¥H JHlodd].
(1) TATHT 65 I YOT EEUdd o Ug IROT FHdTd.

(2) o AT I F5g AT TG ASTAHT 33 S[hald.

(3) BIHETHAT RIERITAR IFIAT T AT USTTST Yagd 6% 3hdld.

(4) 100 T (SIhagaTad) fohaT 50 IS==aT RSIIYETad) W Far TSIl
rETHTEIET UESIdET SR0a ST LAT/AAIAAT ST STTar.

Select the incorrect statement about Judge of Supreme Court:

(1) He holds office until he attains the age of 65 years.

(2) He can resign his office by writing to the president.

(3) He can be removed from his office by the president on the recommendation of the Lok
Sabha.

(4) A removal motion of judge of Supreme Court signed by 100 members (In the case of Lok

Sabha or 50 members (In the case of Rajya Sabha) is to be given to the speaker/chairman.

24. 3T AATSATAT ATATHIEICET SHT STOMT SROIATST IsTge-d WGIGUh! hivTar grald]
TARTHTT TTT JTE?
(37 T FRHI TRATET ARTRE T4,
@) T Feh TRATAT T GATT [hH 28T 99 =Tiae U IR hoes TG,
(@) T SO TETT 3T AITSAT A 7 99 Fehics RUI P Shoves 3T
() ITINEAT A o AN (IO Hraeuied 3TETar.

AT 3N
(1) 3T STOT (2) 3, § 3T &
(3) &, ® T T (4) TSYH T

Which of the following qualifications are mentioned for a person to be appointed as a High
Court Judge?

(a) The person should be a citizen of India.

(b) The person may have held a judicial post for at least ten years in the territory of India.
(c) The person may have worked as a lawyer for at least 7 years in a high court.

(d) According to the President, the person should be an expert in law.

Answer Options :

(1) aand b (2) a, b and ¢

(3) a, cand d (4) All of the above
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25.  SHEd IM<ch | HedTd WTeies [aa™ [H=RTT = :
@30 o FEIH g RS TegdiaR TR 318,
@) T FEEE AVl TGS 9T S hasd TR oI 9RT 9Ted.
() HIOTHTET YR ATATATT 37T RIS AT SHRd IN<he! AT hobo! ATal.

FAGUDT HIOTAT fra= o= e
(1) 31, § 37T & (2) F, H OIS
(3) 3T, & AT 8 4) TS 9

With reference to the 'Public Interest Litigation ( PIL)', consider the following statements :
(a) It is based on procedure established by Law.

(b) It has forced the judiciary to discharge their constitutional obligations towards the
people.

(c) In India the source of PIL is fundamental rights provided to citizens by the constitution
of India.

(d) PIL is not defined in any Indian statute or in any act.

Which of the statements given above are correct?

(1) a, b and c (2) b, cand d

(3) a, cand d (4) All above

26. el TETART IR0 UTT WToTaUehl hioTdT [ SRe= ATerd?
(37) HElT WA AR & WIS F5T 323-A AT WU TS FeATH D
TRAT AT,
@) HelT TETARIT FTATIHROT & TERARIT FIAThoT Hiaar, 1985 g Md Th
JYTiveR TRAT IR,
@) I TG § Heh TR TTHT TR ATTHRT JreATdTo A7 ST,
T I
(1) Fh o (2) Fh &
(3) 3T 3TIOT & qar (4) 3T 37T & e

Which of the following statements related to Central Administrative Tribunal are incorrect?

(a) It is a constitutional body formed under the article 323- A of Constitution.

(b) It is a statutory body established in 1985 under the Administrative Tribunal Act, 1985.
(c) Its members are drawn from administrative background only.

Answer Options :

(1) Only a (2) Only b

(3) Both a and b (4) Both a and c
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27.  ATE RTINS WSS UM SefTd &7 T I [T/ st
(37) IRAATATHTET 39 Ug 6 99 fohal 9aT= 65 99 YT BIEUdd 9RUT ShedTd.
@) AT J&Ta R FR0ATHT YRATd SRl S-S SlTesl dwial &I arad ATal.
() IS, A" IS ATARRET qTEq FThd TUT FHHT 6 FTehd TE.
T I
(1) ®<h & 2) ¥ 3nfor &
(3) 3T T & (4) TISIDT Thel ATar

Consider the following statements regarding supreme court of India and choose correct

statement/s.

(a) Chief Justice of India holds the office for a term of 6 years or until they attain the age
of 65 year.

(b) The Removal motion of the judge does not lapse on the dissolution of the Lok Sabha.
(c) Parliament can extend the jurisdiction of the supreme court but can not curtail it.
Answer options :

(1) Only c (2) b and ¢

(3) a and c (4) None of the above

28. Tl Hoad 141 39

(1) FaTE TSI gSa=T 3ATaq 37 STauamen AfUsR TR,

(2) FETE IETGAE ISd ool HFel TRATAT ISTSHATdIG 99 FRTGIER. TUThRS

(3) TATE ARTAIATER AT qard Fol d9eRe ™I,

(4) IIAHYUST Tehal HATal.

Under article 141 of the constitution

(1) The Supreme Court has the power to make the final interpretation of the Constitution
(2) The law declared by the Supreme Court is binding on all the courts in the territory of
India.

(3) Earlier decisions of Supreme court are not binding on Supreme court itself.

(4) None of the above
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29. WSS [Ta= Sed =T SoT Ang g3y [Haer.
(37) AATE SATITSATAT =TT e sRfgwgrar sfvsR Jaear .
@) I AATSATAT ATATIRTE AT ST IHR AFIAAT 3TTE.
T I
(1) == 31 (2) 2T 3T
(3) ®h 37 TNT (4) h ¥ T°T

Consider the following statements and choose the correct option.

(a) The Parliament is authorized to decide the number of judges in Supreme Court.
(b) President determines the strength of the judges of High Court.

Answer Options :

(1) Both correct (2) Both incorrect

(3) Only a correct (4) Only b correct

30. ATATIHROTIIS I faame A sireaT.
(31) 1976 AT 42 T YSAGHXIT HAH 323 A HATOT HAH 323 B AT FAATGZT Hal ST ATHA
ZAR STEIETS! SATATIRROT 0T FRTTAhI =TTz Sarad 3TTad.
@) HET TRRTDE ATATIRIOMET 3TeT T TG (Hghl AFIAT FHedTd.
T 3N
(1) & 3T 2) B
(3) ST IH (4) T TR

Identify incorrect statement/s is about Tribunals.

(a) 42 constitutional amendment of 1976 included article 323 A and article 323 B which are
related to other tribunals and administrative tribunals respectively.

(b) The chairman and members of the Central Administrative Tribunal are appointed by the
President.

Answer Options :

(1) Only a (2) Only b

(3) Both incorrect (4) Both correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



17 EIES R EVIRIEEIES
31, YRAAIS Hai" AT 0T I€ ATITHT AT AT AR aEedid @iyt

HIOTT [T SR 3R

oo

(1) TET" ARSI $Ha65 Hd gHo IAGTSIEUIRITSr T8l a3 33 HROMRATSE! T3]

FHIE AT d I° TG had G SBIAT FAGTSTIVIATS] TGN g IhdTd.

(2) 3T AT FYUTHET 3T HIG ZThald d e ATST HYLTHAHAT ST FIg 3hd
e
(3) FATE THST F9B ATTSTAT Il ST HIE 3Tehd d= TS YETHR 3T AATHATHS

d¢ VT TR 3 ATATHT AT g JThdTd.

oo a

(4) T TETGY Hass A SBIAT SFHAGISTAUIRATS! ATEl A% 3= hIRUTTTCIR! TSI HIg

ZTehdTd a3 aTe AATGT hdes JoHd §HreT SHGTSTaoiRiTar ST Hig Thard.
Which of the following statements is correct about the difference between the writ jurisdiction
of the Supreme Court and High Courts in India?

(1) The Supreme Court can issue writs not only for the purpose of inforcement of Fundamental
Rights but also for any other purpose, whereas High Courts can issue writs only for the
purpose of inforcement of Fundamental Rights.

(2) High Courts can issue the writ of Injunction whereas the Supreme Court cannot issue
the writ of Injunction.

(3) The Supreme Court can issue writs only in the case of appeal, whereas, High Courts can
issue writs only when the party directly approaches it.

(4) High Courts can issue writs not only for the purpose of inforcement of Fundamental
Rights but also for any other purpose, whereas the Supreme Court will issue writs only for

the purpose of Inforcement of Fundamental Rights
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32. AT SATATGIATAT TR S aTad SRR [Ta/ 3fieEl.
(37) BHTHT 30 A ASTTHA 100 AT AT FTEAAT IRATT TG o] HaTerd AHRETeAT
e/ AT Ihe ATG HET.
@) FHTIAN/3TETAT a7 YRATT SRR ST,
() TR FHLUATATST THTI/3TEET THOT I AT HAHAT AT,
(@) JSFFedT TTAM AT THHT HROTRAT FETIIRIAT Jede hedl Id.
T I
(1) ®h 7 Q) A, 9, H, S
G, ® T (4) TGRS ATEr

Identify correct statements about the removal of the judges of the Supreme Court.

(a) 30 members from loksahha & 100 members from Rajyasabha must Present the motion
for removal to the speaker/ chairman of the respective house.

(b) The speaker / Chairman must accept the motion.

(c) An inquiry committee of five members is constituted by the chairman/speaker.

(d) Contempt of the constitution is the sole Reason for the removal of judges.

Answer Options :

(1) Only a (2) a, b, ¢, d

(3) b, c, d (d) None of the above

33.  oggeA HaTe AATGT 3a [SHIUT WY HRogrET ATUHR HIUT fToT 3me?

(1) IS (2) TR RT3

(3) IETaAr ORGECIE

Who has been empowered by the constitution to establish the supreme court elsewhere?
(1) The Parliament (2) The Chief Justice of India

(3) The President (4) The Prime minister

34, WTSIGUh! HIVTAT HITATER BIHTEHAT JHUME TSI 0T AT
(1) =TT HaT WTErhoT T=ad, 1987 (2) Pt FRTST AT, 1984,
(3) THET BYATE IR AfATT 1882 (4) BIHISTAT FYAT TS ST T8l
Which of the following acts gave legal status to the institution of Lok Adalat?
(1) Legal Services Authorities Act, 1987
(2) The family Courts Act, 1984
(3) Presidencies Small Causes Court Act, 1882
(4) The Institution of Lok adalat does not have any legal status
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35.  RATd =ATSAH ‘i-llclc/bIOh*I REERH
(1) T 3NfOT FEASERT AT TeTTHRdT NNT ST TSI ATIRR.
(2) FIATHSAIGR HoR XTI AThedT HrIaid JIOT TR TeT JURIT FRograT AT
TIPR.
(3) FEAGIIR AIAT ITGT A &< AFIAT AT HBTATPINER JRIGG R HodT]
AT TR,
(4) MU ATGET THE AT 99 yaom s Roedr Mol gREaseT #oar]
TSI ATIHR.

In India, Judicial Review implies

(1) The power of the judiciary to pronounce upon the constitutionality of laws and executive
orders.

(2) The power of the judiciary to question the wisdom of the laws enacted by the legislatures.
(3) The power of the judiciary to review all the legislative enactments before they are
assented to by the President.

(4) The power of the judiciary to review its own judgements given earlier in similar or
different cases.

36. WIS AU SeITd =
(37) A" ATATGATAT AT ISEwRT g3 FRUATAT WIhAvHIoe 39 TaTaaTA]
AT IETER™T g2 T IUel.
@ WWW&EE HTH ShobodT ~ATATTIES! Hcmwcm giehorl 0T ThaT HIvTATE]
hierd fohar faaaTd RATT S HRATT URETRIT ATal.
TIGURT HIOTd T/ g sTed?
(1) Th 3T 2) e
VEEEKE @TATT
Consider the following statements :

(a) The mode of removal of a Judge of a High Court is similar to that of removal of a Judge
of the Supreme Court.

(b) After retirement from the office, a Permanent Judge of a High Court can't plead or act
in any court or before any authority in India.

Which of the above statements is/are correct?

(1) Only a (2) Only b

(3) Both a and b (4) Neither a nor b
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37.  VEMEDT AEATYHEROTES YT Wet [Rosedr faum=ar =R &=
(31) B FeAdlics v 14 3 FETYRIOT AAR g F AT T2THGRT AT ahoT=r
YT AT 3T 3TE.
() HETT TRRABT AMATARIIT (CAT) AT AL HIHHG 6 IY Tehal TATT 65 I9 37T
F) FHET TIRIDHE AETISROT=T Jegi=r gt dwgerer Hghr afde=r (Acc)
ARIA-AR. BT T TSl hohedT RIRIENEAT U ol STd.
(@) hlT TITHRIT ATATIRROMAT AL T IUTHE 7O AFAA! HdTe.

g faam sivesa.
(1) Taar o1 3T & QRuTTTs
ORELIEEE A R ) (4) THURT Tehgl el

Consider the following statements regarding administrative tribunals.

(a) The central and state administrative tribunals are established according to the provisions
of part 14A tribunals from the original constitution.

(b) Chairman of central administrative tribunal hold office for a term of six years or until
he/she attains age of 65.

(c) Members of central administrative tribunal are appointed on the basis of recommendations
made by the speaker of Lok Sabha with an approval from appointments committee of the
cabinet (ACC).

(d) Chairman and vice-chairman of central administrative tribunal are appointed by the

President.

Find the correct statement.

(1) Statement a and b (2) Statement b and d
(3) Statement a, b, ¢ and d (4) None of the above

38. WIGHIGUHT HIVTA/AT ARAG/AT 3T ATATHITAT WA= IS8T Hcl/aTd?
(31) STTAMRATST TTET oA ATURR
(@) HRATAT AHd YR ARRS SR @
@) TR FEGIAER FEa9T 3gugrEr TR

Tt 3N
(1) <h 3T, & (2) th ¥, &
(3) Beh 3 (4) SIS FF

Which of the following confirms the independence of the High Court?
(a) Power to punish for contempt.

(b) Expenses charged on Consolidated fund of India.

(c) Power to control subordinate courts.

Answer Options:

(1) Only a, b (2) Only b, ¢

(3) Only a (4) All of the above
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39. ArE <AETSIATAT FrETdEer M g faum Maer
(1) T IegR g Sheh STTaT.
2) @ AT RIARUMER ISR Fwh hes STard.
(3) T GATLTIAT RIERIAAR IEIAER Mg hes STard.
(4) T TR RARAAR AEIdER FgWm e ST,

Find the correct statement about the appointment of the judges of the Supreme Court.

(1) They are appointed by Parliament.

(2) They are appointed by President on the advice of the Parliament.

(3) They are appointed by President on the advice of the Prime Minister.

(4) They are apointed by President of the adivce of the Chief Justice of India.

40. IE SAIATSIATAT ATATHRIETST T [T 3fiesaT.
(37) 3T TSI FRTHET APIAT T ST BRI 9Tl
@) TATET 62 T IO BRUAA Al URTaR Mg ekl
@) I FIRETHIATAT —METIRIE 9d-, 9d, MaieaT Rarsr ded MUaR vid 7.
@) I SIS FTa T HrERdl TR Aar aed 9 3a% 39 A
AGT 3AX AATHATT FTATT s Iehe ATl

T 3
1), 9,5 (2) A, 9,8
(3 3, =, s 44,3

Identify the correct statement about the judges of High Courts.

(a) A judge of high court should be a distinguished jurist in the opinion of the president
(b) He holds office until he attains the age of 62 years,

(c) The salaries, allowances and pensions of judges of High court are charged on Consolidated
fund of India.

(d) The retired permanent judges of high court are prohibited from pleading in any court
in India except Supreme Court and other high courts.

Answer Options :

(1) a, b, ¢ (2) a, b, d

(3) a, cd (4) b, d
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41  HIHUTS I HATST H RA?
(a) 2013 =T FEAA [EAS BT ST 3T TRET UG hoves ATl
(b) HHUTSTAT HIOTAE! T-THS UISTS [ SId AT,
(c) BIRITSH SThT THTITIRIT Hxh ATel HROT ghl AT ST Telia e

AT,

(d) VT TRzl ST el (his) T &8s T9d ITATS! [FezT oG ATIRR ARSI
T

FRAGURT HITAT [T I 3Tree?

(1) 3, & 30T &%

) F, % 3T g

(3) & MOT

(4) TFURT T

What are the limitations of Lokpal institution?

(a) The 2013 act did not provide concrete immunity to the whistle blowers..

(b) The Lokpal is not given any constitutional backing.

(c) Lokpal is not free from political influence as the appointing committee itself consist of
members from political parties.

(d) Lokpal has no power to give directions to prevent the destruction of records during the
preliminary inquiry.

Which of the statements given above are correct?

(1) a, b and ¢

(2) b, cand d

(3) cand d

(4) All of the above
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42.

Hoe [T =T =

(37) TEIHT FHT 124 TAR FAE ATATSATAIS T U A=A HRATET A==arareiar
R g FROATH A I,

@) 1973 F& T, TA. T FAT ATATIAT ST 32T A4 IR STagT HRATAT A-ATETEET
FHROT 3.

@) 1977 AL TH. J 97 FAT ol AT Tegclie IRFTHRT U Fgh hes 1o,

(@) AT IATGIATT RV —ARTERT JHEr IgHR ATHISAET Agar fhar Igadiai
Fgh hedT Iohedl SAHIRTAR 219 UdTd.

T far st
() 3, 9, %, € (2) o, %, 8
(3) A, T, % 4) 9, % s

Consider the following statements.

(a) According to article 124 of the Constitution, the senior most judge of the Supreme court
has to be appointed as the Cheif Justice of India.

(b) In 1973, A N. Ray was appointed as the Chief Justice of India by superseding three senior
most judges of the Supreme court.

(c) In 1977, M U. Beg was appointed as the Chief Justice of India in similar manner.

(d) Any judge of the supreme court taking charge of his office has to take an oath before
the President or any person appointed by the President.

Identify the correct statements

(I)a, b, c,d (2)a, c, d
(3) a, b, c (4) b, c,d
43, 9RANY ST <NA® TAGAAT a3 TYRd 3R,

(1) FrFa 2 e Tead (2) SHIFETET T T
(3) TS T (4) TSR THEr TRl
Judicial review in the Indian constitution is based on

(1) Procedure established by law (2) Due process of law
(3) Rule of law (4) None of the above
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44. TS T ST .
(31) STHTEd ITieehl Heheuwdl 399 THRHAH TIHTAT 2TdhTd ST
@) ATTAT . AR, FOTIFAT IMMOT ATAT GY. TH. W97Fdl § SHred ATieehl dhed-d
TRAWHS UoTd 3712,
@) BT ST 8T RIS FoF R e YRaTd SHiRd A g& gof v 210,
T faT stesET.
(1) %th 3T (2) ®th &
(3) Fth & (4) TISTHT Ther el

Consider the following statements.

(a) The concept of public interest litigation originated in the United States in the twentieth
century.

(b) Justice VR Krishn Iyer and Justice PN Bhagwati are the pioneers of the concept of public
interest litigation in India.

(c) The relaxation of the traditional rules of locus standi facilitated public interest litigation
in India.

Identify the incorrect statement.

(1) Only a (2) Only b

(3) Only c (4) None of the above

45.  BIHAATHATIET WA BT [T SRR ATer?
(1) PR T ATIRAAT SATATIT (Legal Services Authorities Act) 1987 THR BIeh-ATATSI]
ERIRER-SIREI R
(2) FIFATIATSATA hadcd Al TIAT VA ATIS ST FTHAEIT B Tl
(3) SFAAST RSST TS 0T g 3T 31=AdT ST af Sial J&Tia) SR 3=l
4) ShaEFI Roer Mo g fearh =maes Roer Rareara T s

Which one of the following statements about Lok Adalat' is incorrect?

(1) Under the Legal Services Authorities Act of 1987, Lok Adalats have been given a statutory
status.

(2) Lok Adalats are constituted of serving or retired judicial persons only.

(3) Every award made by the Lok Adalat is final and binding on the parties.

(4) The award passed by the Lok Adalat is deemed to be a decree of a civil court.
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46. WISIAURT HIOTd FaTF ATATSITAT RS URIS ATURR &37d A 3Med?
(37) 9RT IR 0T Uk fohaT 31T I8 Ir<ATdis; [9dre
@) 2 fehar 1Mo Tsaiadie faare
() THAGHAT FHIVTATE THFETAT MaguhRiadTdle [Garg
() AR grofy foare

T 3TN

OEAC] Q) A, 9, %

BT, H, T (4) ®h 3

Which of the following are included in the exclusive 'Original Jurisdiction' of Supreme
Court?

(a) A dispute between the Government of India and one or more states.
(b) A dispute between two or more states.

(c) A dispute regarding elections to either House of Parliament.

(d) A interstate water dispute.

Answer options:

(1) a, b (2) a, b, c

3) b, c, d (4) Only a

47. 9eIe f9ue fSeRE =
(30 22 7 T START IUTIT FROART e FARBRA 19 HdRT 2020 st AT I,
@) [T SR STl 8 g9 99T STHUIR IR,
@) =arardrer o, . <Ee g 22 = [ ST sreret wo MERhl R STl ITTe.
T I
(1) Fth 7 NER, 99 & Ih 2) Fh A T T W, F IH
(3) th § 9 & SRIeR T 7 IH @) I [TuH e 3.

Consider the following statements.

(a) Central Government approved the formation of 2204 [aw Commission of India on 19th
Feb. 2020.

(b) The law commission has term of two years

(c) Justice B. S. Chauhan is appointed as the chairman of 220d 13w Commission.

Answer Options:

(1) Statement a correct, b and c incorrect (2) Statement a and b correct, ¢ incorrect

(3) Statement b and c correct, a incorrect (4) Statement a, b, c are correct
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48. IRT YT .
(37) AU IRATATIZIET AU AT aTh dedies Taedl Jare ARTaarsT

3 AATGATAT A FATIRIAET F9] head hosl ST,

() T ITEATAT T F AT HOLH FRATT ARATATII g o7 AP

TYTRRE e,

T 39

(1) Th 37 I (2) ®<h ¥ TRT
(3) Sl A (4) ST AT

Identify the correct statements.

(a) The chief justice is appointed by the President by discussing with the judges of supreme
court and chief justices of other high court as the President deemed necessary.

(b) The advice of chief justice of India is binding on President while appointing other judges
of Supreme Court.

Answer Options:

(1) Only a correct (2) Only b correct
(3) Both correct (4) Both incorrect
49. VRATHG BIHUTS F BIHTh & U IO ATIR SIA0IRT 31TR?
(1) ARATdIS AT gh (2) ThATRATAS STRETHH
(3) IRATAIG YT SRS (4) TTYHT AR
Lokpal and Lokayukt office in India are similar to which of following ?
(1) Parliamentary Secretary of India (2) Ombudsman in Scandinavia
(3) Prosecutor general in Russia. (4) None of these

50.  RAT ASTISHAT STT5G-124 (4) TR TaTE ATITSATAT STIET I RATHITAT =TT 2T
TS X HROGTATST &l HIROT 3R 2Thlld -----

(37) IS @) Rieg =0 IRaa-
COREEICSEIR () AHTIGTHAT

@ TSR ARM

T 3O

(1) th 37 (2) 3, &, & IMOT g
(3) F AMOT © )

Under the Article-124 (4) of the Indian Constitution, a judge of the Supreme Court or High
Court shall be removed on the grounds of ------ .

(a) Violation of the Constitution (b) Proved misbehaviour

(c) Bankruptcy (d) Incapacity

(e) Charges of corruption

Answer Options:

(1) a only (2) a, bcand e

(3) b and d (4) All of the above
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